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e mathtest:
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axiom of power test:
VAIPVB[Be€ P < VC(C € B= C € A)]

De Morgan’s law: «(P A Q) <= (=P)V (=Q) or (;c; Ai = U;e; Aior AUB=ANB

quadratic formula:
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combination:
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Sophomore’s dream 1:

1 )
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divergence 1:

divergence 2:
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lim, sum ...:
i s = (1) +§ > {fszbn}
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Schwinger-Dyson:

(O |T{FS } ) = (¢ |T{iF;iD" — FSin i D} 1) .
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Cauchy-Schwarz inequality:
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math: radicals:
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e math: long non-2 radicals:
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e math: integrals: no-limits:

Ha:q/olf(a:) dz //Olf(x) dz //Olf(x) dz yglf(a:) dz /mf(m) dz
/lf dx//f dx//f dxﬁﬁf d;v/f
0

* =
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e math: frac test:
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1
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e brace+sub/superscript: 1235 /124

e math: quadratic formula

_ —bx Vb2 —4dac

L1/2 = %
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